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ITU-R S.1718
1 RR 30 4 RR 0 1o "
RR 30 1 86 pfd BSS FSS
1 pfd RR
30 1 86 1 10
2 1 BSS FSS
pfd —103.6 dB(W/(m”* - 27 MHz))
1
FSS pfd  (dB(W/(m’ -27 MHz)))
cm 45
5 60 80 120 240 500 800 1100
q=0° -134.2 -136.7 -138.7 -141.4 -147.4 - 1525 - 155.6 -1584
q>0° 3 1 2
1— FSS pfd 1
RR 930 RR 4
2 — BSS pfd 1 FSS
ITU-RBO.1213 24 m 11.7-12.7
GHz 24m RR 7 3 83
3 — BSS pfd 1
pfd
o° 2
4 — 1 FSS 2
5— 105° E-129° E 1 3 60 cm 1100
E-124° E 3 FSS
— RR 4 2002 3 30
— 2002 3 30
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ITU-R S.1718
— 49 WRC-2000 2 2002 3 D
6 — 1
7 _ RR 0 4 1
8 — 1 1 2 pfd 1 6%
11.7 GHz 65% 60 cm 174 K
80cm 198 K 120cm  240cm 238K 500cm 317K 800cm 396 K
9 — FSS pfd dB(W/(n?-40 kHz)) pfd 10 log
(27 000/40) = 28.3 dB
10 — RR 30 1
1
RR 30 1 86
FSS pfd
1
FSS pfd FSS
pfd () = 10 log(DT/T) + 10 log(k T bre) + 10 log(4p/(0.3/f)?) — G4(f) (1)
o} 3
j
DT/T %
k 102K
T K
bref 27 MHz 2 9
Ga(f) fo dBi

GHz
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ITU-R S.1718
DT/IT be T pfd
2 pfd
pfd 45cm  11m  FSS
BSS 2 2 8 f =117
1 ?=0 pfd
2
FSS pfd  dB(W/(m? -27 MHz))
q 45 cm 60 cm 80 cm 120 cm 240 cm 500 cm 800 cm 1100 cm
T=174K | T=174K | T=198K | T=238K | T=238K | T=317K | T=39%6K | T =39 K
0.01 -134.2 -136.7 -1387 -141.4 -147.4 -1525 - 155.6 -158.4
0.10 -134.2 -136.7 -138.7 -141.3 -147.2 -151.4 -152.7 -152.9
0.50 -134.0 -136.3 -137.9 -139.7 -140.8 -132.0 -133.2 -133.2
1.00 -133.3 -135.1 -1357 -134.8 -127.9 -126.6 -125.7 -125.7
1.50 -132.1 -133.0 -132.1 -126.5 -1235 -1222 -121.3 -121.3
2.00 -130.5 -130.1 -126.9 -120.4 -120.4 -119.1 -118.2 -118.2
2.50 -128.4 -126.4 -120.3 -117.9 -117.9 -116.7 -115.7 -115.7
3.00 -125.9 -121.8 -116.8 -116.0 -116.0 -1147 -113.8 -113.8
3.50 -122.8 -116.5 -115.1 -114.3 -114.3 -113.0 -112.1 -112.1
4.00 -119.3 -114.2 - 1136 -112.8 -112.8 -111.6 -110.6 -110.6
5.00 -111.8 -111.8 -111.2 -110.4 -1104 -109.2 -108.2 -108.2
6.00 -109.8 -109.8 -109.2 -108.4 -108.4 -107.2 -106.2 -106.2
7.00 -108.1 -108.1 -107.6 -106.8 -106.8 - 1055 -104.6 -104.6
8.00 - 106.7 - 106.7 -106.1 -105.3 -105.3 -104.1 -103.1@ -103.1@
9.00 -105.4 -105.4 -104.8 -104.0 -104.0 -102.8% -101.89 -101.89
10.00 -104.3 -104.3 -103.7 -102.99 -102.99 -101.6Y% -100.7% -100.7%
11.00 -103.20 |- 103.20 -102.70 -101.9Y -101.9Y - 100.6® - 99,6 - 99,6
12.00 -102.3% |- 102.3Y -101.79 -100.99 - 100.9W -99.7® -98.7% -98.7%

2 —103.6 dB(W/(m? - 27 MHZ))
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ITU-R S.1718
2
1 pid q=0
1 1 Xa: Ya, X8, Y& T

45=d =60 cm T=174K

60< d< 80 cm T Xa= 60, ya= 174 xg = 80, yg = 198
80=d =120 cm T Xa= 80, ya= 198 xg = 120, y5 = 238
120=d =240 cm T=238K

240< d <500 cm T Xa = 240, ya= 238 Xz = 500, yg = 317
500< d<800 cm T Xa = 500, ya= 317 xg = 800, yz = 396

800< d <1100 cm T=396 K

T=ya+ (Vs — Ya)(d — Xa)/(Xg — Xa)
2 i

Grmax = 10 10g(0.65(p 0.01d/(0.3/f))?)
3 pfd g=0

pfd (g = 0) = 10 log(6/100) —228.6 + 10 log(T) + 74.3 + 10 10g(4p/(0.3/f)) — Gax

T FSS K
d cm
Grax dBi

f GHz




